ĐỀ THI THỬ ĐẠI HỌC – CAO ĐẲNG  

MÔN : TIẾNG ANH – KHỐI D

(Thời gian làm bài : 90 phút)

ĐỀ SỐ 1
Choose the word whose underlined part is pronounced differently from the rest in each group.                                                                     

1. a. apologize 

b. absorb 

c. arrive 

d. absence

2. a. combine 


b. collect 

c. commerce 

d. correct

3. a. through 


b. enough 

c. rough 

d. tough
4. a. admiral 


b. adventure 

c. advertise 

d. adverb

5. a. club 


b. subtle 

c. climb 

d. doubt

Pick out the word that has the stress pattern different from that of the other words.

6. a. committee 

b. referee 

c. employee 

d. refugee

7. a. alcohol 


b. comment 

c. chemical 

d. proceed

8. a. appetite 


b. architect 

c. appreciate 

d. arable

9. a. deliberate 

b. subsequent 

c. frequently 

d. consequent

10. a. insight 


b. chemist 

c. dependent 

d. substance

Complete each sentence with the right form of the word in brackets by circling the corresponding letter a, b, c, or d.

11. He acted in an extremely (dictate) ______ manner, which made him very unpopular.

a. dictation 


b. dictatorial

c. dictate

d. dictatorship

12. I had to look up the number in the telephone (direction) ______

a. direction


b. directly

c. directory

d. directors

13. Politicians (variety) ______ blame the media if they don't win the election. They're so predictable.

a. variable 


b. variety 

c. various

d. invariably

14. This is very (convenient) ______! Can't you practice your violin somewhere else?

a. convenient 

b. conveniently 

c. inconvenient

d. convenience

15. I would like to show you my latest (create) ______ which I have called 'Boat on a Lake'.

a. creativity 

b. creator 

c. create

d. creation

16. Why does everybody (critic) ______ him all the time?

a. criticize 


b. critic 

c. criticism

d. critical

17. They're going to announce their (decide) ______ tomorrow.

a. decision 


b. indecisive 

c. decide

d. decidedness

18. During the festival (decorator) ______ were hanging from every tree.

a. decorator


b. decorations

c. decorative

d. decorativeness

19. He offered to give me a (demonstrate) ______ of how the machine worked.

a. demonstrator 

b. demonstration 
c. demonstrate

d. demonstrative

20. We are (independence) ______ on other countries for most of our food.

a. dependent 

b. independence 
c. dependable

d. dependability

Read the passage and then decide which word (a, b, c or d) best fits each space.

The tourist industry is (21)……………  to be the largest industry. Before 1950 one million people traveled abroad each year but by the 1900s the figure (22) ………………to 400 million every year.

(23) ………… large numbers of tourists, however, are beginning to cause problems. For example, in the Alps the skiers are destroying the mountains they came to enjoy. Even parts of Mount Everest in the Himalayas are reported to be covered (24) ……………old tins, tents, and food that have been (25) ……………

But at a time when we have (26) …………… freedom to travel than ever before, more and more people are asking how they can enjoy their holidays (27) ……………… causing problems by spoiling the countryside. Now there is a new holiday (28) ………….  called "Holidays That Don't Cost The Earth". It tells you (29) ………….. you can help the tourist industry by asking your travel agent the right questions (30) ………….. you go on holiday.

21. a. regarded 

b. considered 

c. seen



d. figured

22. a. had risen 

b. rose 


c. has risen


d. were rising

23. a. The 

b. Those 

c. These


d. Such

24. a. by 

b. with 


c. under



d. beneath

25. a. disposed 

b. littered 

c. thrown away


d. launched

26. a. greater 

b. bigger 

c. larger


d. better

27. a. apart from 
b. instead of 

c. direction


d. instruction

28. a. where 

b. what 


c. when



d. how

29. a. before 

b. when 

c. as soon as


d. after

Choose the word or phrase that best completes the sentence.

30. I'm worried about ______ on so much work.

a. she taking 

b. she takes 


c. her taking

d. her to take

31. He wanted to know where ______.

a. had I been 

b. I had been 


c. did I been

d. I been going

32. Unlike most Europeans, many Americans ______ a bowl of cereal for breakfast every day.

a. used to eating 

b. are used to eating 

c. are used to eat
d. use to eat

33. They stayed for hours, ______ my mother was very annoyed about.

a. that 


b. which 


c. this


d. whom

34. When friends insist on ______ expensive gifts, it makes most people uncomfortable.

a. them to accept

b. they accepting

c. their accepting
d. they accept

35. ______ English fluently, we should practice speaking it whenever possible.

a. In order to speak

b. In order speak

c. their accepting
d. they accept

36. As a general rule, the standard of living ______ by the average output of each person in society.

a. fixed 


b. has fixed 


c. is fixed

d. fixes

37. She's finished the course, ______?

a. isn't she 


b. hasn't she 


c. doesn't she

d. didn't she

38. The stolen painting was ______ a large sum of money.

a. worth 


b. valued 


c. cost


d. priced

39. Although the weather is not so good, the match will ______.

a. go about 


b. go ahead 


c. go over

d. go along

40. The greater the demand, ______ the price.

a. the highest 

b. the high 


c. higher

d. the higher

41. Many big cities are suffering from serious air pollution, ______ ?

a. don't they 

b. aren't they 


c. are they

d. do they

42. The beach is always crowded at this time of the year. There ______ to put your towel down!

a. are no rooms 

b. are no room 


c. is no room

d. is room

43. The children's mother warned them ______ near the river.

a. not to go 


b. to not go 


c. not going

d. don't go

44. If services are increased, taxes ______.

a. probably go up 

b. probably up 


c. will probably go up
d. going up probably

45. The boy refused to answer the policeman's question for fear that the man ______ arrested.

a. will be 


b. would be 


c. had been

d. would have been

46. Jane ______ her parents that she wouldn't marry that rich man.

a. told to


b. said



c. told


d. is telling

47. Only because she had to support her family ______ to leave school.

a. that Alice decides

b. did Alice decide

c. does Alice decide
d. Alice decided

48. The football match had to be ______ because of the bad weather.

a. put out 


b. put off 


c. putting off

d. put up

49. Soon after I have finished my exam, I ______ for a holiday.

a. will go away 

b. would go 


c. go away

d. went away

Choose the underlined part (a, b, c, or d) that is incorrect.

50. Your attendance at the meeting makes me feel very happy.

a 

b 
c 

d

51. Peter did a lot of sightsee when he was in Paris last summer.

    a 

b 

c 

d

52. He is such a friend person. He greets me with a smile every time I see him.

   a 

       b 

      c 

d

53. Your literary work is really a great successful.

a 
       b 
    c 


d

54. Her long blond hair and her cute facial expressions made a deep impress on me.

a 

          b 

c 


d

55. Her absent from work without any permission made the boss so angry that he threatened to sack her.

   a 

b 

    c 


        d

56. When a Vietnamese wants to work part-time in Australia, he needs to get a work permission.

a 


  b 


   c 

               d

57. Vietnam is famous for many beautiful spots like Ha Long Bay, Sa Pa and Da Lat.

a 
   b 

      c          d

58. His interestingness in such a book really surprised me.

a 

b 

    c 

d

59. Our neighbour is quite safe. There have not been many crimes recently

a 
        b 



        c
     d

Read the passage and choose the best answer.

Champagne, the king of wines and wine of kings, tastes all the better when it is drunk from an elegant, fine-quality glass. That, however, is only one of thousands of ways glass is used today. And for all those different uses, many different types of glass are produced. Glass products are manufactured in different ways. Today, glass is blown by hand in the traditional way which the Roman first developed, but now this work is done by robots, too. Generally, in industry, much faster methods of mass production are needed. Often, for example, glass is pressed into the necessary shape by machine. Glass is shaped in other ways too. For example, it is made into long, very thin fibres. Fibres like these are required to make the fibre-opitic cables that help to build the information Super-Highway around the world. 

60. The phrase "the king of wines and wine of kings" means ______.

a. Champagne is the best wine of kings.



b. Champagne is the king that drinks lots of wine.

c. Champagne is the best wine and is made for kings.

d. Champagne is the best wine made by kings.

61. According to the passage, ______.

a. the only way glass is used today is for drinking wine.

b. today glass is used in one thousand different ways.

c. an elegant, fine-quality glass makes champagne taste better.
d. champagne is drunk in thousands of ways.

62. It can, be inferred from the passage that ______.

a. the traditional way of blowing glass by hand is still in use today.
b. today the blowing of glass is all done by robots.

c. the Romans first developed methods of mass production.

d. the traditional way is no longer in use today.

63. According to the passage, which of the following is correct?

a. Mass production of glass is done by robots.


b. Glass can be shaped in many different ways.

c. In industry glass is often shaped by machine.


d. Both Band C.

64. The passage primarily discusses

a. champagne, a kind of wine.




b. the uses of glass.

c. the types of glass products.




d. the ways of making glass.

Arrange the following sentences in a logical order. Identify your answer by circling the corresponding letters.

65. used / tea / my / to / drink / parents / after / dinner.

a. My parents used to drink tea after dinner.



b. My parents used to drink after dinner tea.

c. My parents used to dinner after drink tea.



d. My parents used to drink dinner tea after.

66. things / do / this / got / we / many / to / have / Sunday.

a. We have got this Sunday do many things to.


b. We have got this Sunday many things to do.

c. We have got many things to do this Sunday.


d. We have got many things this Sunday to do.

67. their / airport / to / do / will / they / go / meet / tomorrow / the / son /.

a. They will go to meet their son to the airport tomorrow.

b. They will go to meet their son tomorrow to the airport.

c. They will go to the "airport to meet their son tomorrow.

d. They will go tomorrow to the airport to meet their son.

68. weather / place / camping / in / for / fine / a / is / good / Hyde Park /.

a. Hyde Park is a good place in fine weather for camping.

b. Hyde Park is a good place for camping in fine weather.

c. Hyde Park is for camping a good place in fine weather.

d. Hyde Park is in fine weather a good place for camping.

69. enough / milk / do / have / for / sugar / you / the?

a. Do you have enough sugar for the milk?



b. Do you have sugar enough for the milk?

c. Do you have sugar for the enough milk?



d. Do you have the enough sugar for mill?

Which phrase or sentence is the best TO CORRECT the underlined part:

70. The group called the Teton Sioux inhabits parts of North and South Dakota; their language and customs differ, however, from the Yankton, Sisseton, and Dakota Sioux.

a. their language and customs differ, however, from

b. however, they have different language and customs than

c. however, their language and customs differ from those of（E）
d. its language and customs differ, however, from those of

71. Under the new corporate insurance policy, when an employer is charged for damages to a third party wholly or largely as a result of actions by an employee, he is entitled to recoup the amount of the damages.

a. he is entitled to recoup



b. the employer is entitled to recoup


c. he or she is entitled to recoup 


d. he is entitled to recoup for  

72. The work of mathematician Roger Penrose in the early 1970s, on the geometry of what are called aperiodic tiles, turned out to describe the architecture of a previously unknown class of crystals.

a. what are called aperiodic tiles, turned out to describe

b. what is called aperiodic tiles, describes        

c. aperiodic tiles, describing          




d. aperiodic tiles, it turned out to describe（A）
73. There are more than forty newspapers published in the cities of Kerala, a state on the Malabar Coast, which reflects the fact that Keralans are by far India’s most literate citizens.

a. which reflects
b. and that number reflects
c. which reflect

d. that number reflects


75. Balzac drank more than fifty cups of coffee a day and died of caffeine poisoning; furthermore, caffeine did not seem to bother Samuel Johnson, the great writer and lexicographer, who was reported to have drunk twenty-five cups of tea at one sitting.

a. furthermore, caffeine did not seem to bother 


b. however, caffeine did not seem to bother

c. however, caffeine did not seem to have bothered 


d. in addition, caffeine did not seem to bother

76.  In British English ‘a note’ is not ______

a. A mark in an exam.





b. A mark on a music score.
c. A piece of paper with some words on it. 



d.Writing something down so you remember it 

77. British English we say ‘to queue’, in American English they say ‘wait ______

a. in line

b. in a row
c. in a crowd 
d. in a string
78. In American English the ‘fall’ refers to which season?


a. Spring

b. summer 
c. autumn 
d. winter

79. In British English it’s ‘a tap’, but in the States they say ______


a. drapes 

b. a faucet 
c. garbage 
d. a diaper
80. In British English it’s ‘a puncture’ or ‘flat tyre’, but in US English it’s ______


a. a blow up

b. a blow down 
c. a blow out


d. a blow
THE END
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ĐỀ THI THỬ ĐẠI HỌC – CAO ĐẲNG  

MÔN : TIẾNG ANH – KHỐI D

(Thời gian làm bài : 90 phút)

ĐỀ 2

Chọn phương án (A hoặc B, C, D) ứng với từ có trọng âm chính nhấn vào âm tiết có vị trí khác với ba từ còn lại trong mỗi câu:


1.
A. equality
B. difficulty
C. simplicity
D. discovery


2.
A. tenant
B. common
C. rubbish
D. machine


3.
A. animal
B. bacteria
C. habitat
D. pyramid


4.
A. writer
B. teacher
C. builder
D. career


5.
A. company
B. atmosphere
C. customer
D. employment

Chọn phương án đúng (A hoặc B, C, D) để hoàn thành mỗi câu sau:

6. What beautiful eyes....................



A. does she have
B. she has

C. has she

D. she doesn't have

7. Make exercise a part of your daily.................



A. regularity 

B. chore

C. routine

D. frequency

8. .................. the storm, the ship couldn't reach its destination on time.



A. In case of

B. In spite of

C. Because of

D. But for

9. He completely.................. with what I said.



A. accepted

B. complained

C. agreed

D. argued

10. I finished my homework a few days ahead................. the deadline.



A. of

             B. to

             C. by          

D. at

11. He hurried................ he wouldn't be late for class.



A. since

B. as if

             C. unless

D. so what

12. If she............... rich, she would travel around the  world.



A. would be

B. is

             C. has been

D. were

13. Mary was the last applicant....................



A. to be interviewed
B. to be interviewing
C. to interview

D. to have interviewed

14. Argentina................... Mexico by one goal to nil in the match



A. beat  

B. scored

C. won
              
D. knocked

15. There should be no discrimintion on................... of sex, race or religion.



A. fields

B. places

C. areas 

D. grounds

16. The cat was................. to wait for the mouse to come out of its hole.



A. patient enough
B. so patient

C. enough patient
D. too patient

17. I can't find my purse anywhere; I must................. it at the cinema.



A. leave

B. have left

C. be leaving

D. have been leaving

18. ................... of the workers has his own work.



A. Every

B. Each 

C. Other

D. All

19. The numbers add................. to 70.



A. off  

             B. up     

C. in      

D. out

20. The equipment in our office needs.................



A. moderner

B. modernizing

C. modernized

D. modernization

21. The felt................. when the failed the exams the second time.



A. discouraged

B. annoyed

C. undecided

D. determined

22. I have bought a present for my mother, and now I need some...............



A. paper wrapper
B. wrap paper

C. wrapped paper
D. wrapping paper

23. Computer is one of the most important................... of the 20th century.



A. inventing

B. inventories

C. inventions

D. inventors

24. If they are not  careful with their accounts, their business will go....................



A. poor 

B. bankrupt

C. penniless

D. broken

25. It was really kind............... you to help those poor people.



A. by        

B. of
              
C. at       

D. to

26. Do you know........................?



A. what wrong was it with

            B. what's wrong with it



C. what wrong was with it
                         D. what wrong is it with

27. If you had taken my advice, you.............. in such difficulties.



A. won't be 

B. hadn't been

C. wouldn't be

D. wouldn't have been

28. Hair colour is one of.................. characteristics to be used in identifying people.



A. the most obviously
B. most obvious

C. obviously the most
D. the most obvious

29. I would appreciate it................ what I have told you a secret.



A. you can keep

B. that you kept

C. you will keep
D. if you kept

30. My cat would not have bitten the toy fish................ it was made of rubber.



A. if she has known
B. if she should known
C. had she known
D. if she knew

31. I wish I hadn't said it. If only I could................



A. turn the clock round
B. turn the clock down
C. turn the clock back
D. turn the clock forward

32. ......................, the results couldn't be better.



A. No matter what he tried hard

              B. No matter how hard he tried



C. Although very hard he tried         

 D. Despite how hard he tried

33. He gave me his personal............... that his draft would be ready by Friday.



A. endurance

B. insurance

C. assurance

D. ensurance

34. They will stay there for some days if the weather............... fine.



A. would be 

B. was    

C. is
              
D. will be

35. Many people like the slow................... of life in the countryside.



A. step      

B. pace

             C. speed

D. space

Đọc kỹ đoạn văn sau và chọn phương án đúng (A hoặc B, C, D) cho mỗi chỗ trống từ câu 36 đến câu 45:


The next generation of telephone users will probably laugh (36) ........................ we explain how we used to stand next to a wall in the kitchen to (37) ........................ a phone call. Mobile communications, already highly advanced compared with a decade ago, will completely change communication using mobile phones, most people know (39) ........................ about the mobile telecommunications industry and its technology.


There are three types of mobile phone. These are hand portables, pocket-sized hand portables and transportable. The smallest and most popular are pocket-sized hand portables. These work on rechargeable batteries, which allow an (40) ........................ of up to 80 minutes’ conversation. Mobiles that are fitted permanently in a vehicle do not (41) ........................on separate batteries. They require an external aerial on the vehicle. This can mean a stronger signal with clearer (42).............................Transportables have a high power capability and can be used (43) ........................ anywhere. They come with powerful battery packs for longer, continuous use and may also be put (44) ........................ a vehicle, using its electrics. They (45) ........................ to be bulkier than hand portables.


36.
A. unless
B. when
C. while
D. whether


37. A. make
B. give
C. take
D. do


38.
A. In addition
B. Because
C. As a result
D. Although


39. A. little
B. come
C. few
D. lots


40. A. amount
B. account
C. activity
D. average


41. A. rely
B. create
C. carry
D. insist


42. A. wave
B. letter
C. speech
D. speed


43. A. mostly
B. hardly
C. most
D. almost


44. A. on with
B. into
C. up with
D. in to


45. A. used
B. haved
C. tend
D. are

Đọc kỹ đoạn văn sau và chọn phương án đúng (A hoặc B, C, D) cho mỗi câu từ câu 46 đến câu 50:


Sometimes you know things about people the first time you see them, for example, that you want to be friends with them or that you don’t trust them. But perhaps this kind of intuition isn’t as hard to explain as it may seem. For instance, people give out body language signal all the time. The way you hold your body, head and arms tells people about your mood. If you hold your arms tightly at your sides, or fold them across your chest, people will generally feel that you are being defensive. Holding your head to one side shows interest in the others, while an easy, open posture indicates that you are self-confident. All this affects the way you feel about someone.


Also, a stranger may remind you of a meeting with someone. This may be because of something as simple as the fact that he or she is physically similar to someone who treated you well or badly. Your feeling about a stranger could be influenced by a smell in the air that brings to mind a place where you were happy as a child. Since even a single word can bring back a memory such as that, you may never realize it is happening.


46. What does the word “open” in the passage most closely mean?



A. unrestrained
B. relaxed
C. confined
D. unlimited


47. What influences your impression of a person you meet the first time?



A. intuition
B.  familiarity
C. knowledge
D. feeling


48. What one fells about a stranger may be influenced by something that ........................



A. strengthens one’s past behaviours



B. reminds one of one’s past treatment



C. revives one’s past memories



D. points to one’s childhoods


49. What does the second paragraph discuss?



A. Meanings of signal some implies towards a stranger.



B. Factors that may influence one’s feelings about a stranger.



C. How people usually behave to a stranger.



D. Factors that cause people to act differently.


50. Intuition described in the passage can be explained by means of ........................



A. styles
B. languages
C. patterns
D. behaviours

Đọc kỹ đoạn văn sau và chọn phương án đúng ( A hoặc B, C, D) cho mỗi câu từ câu 51 đến câu 55:


Upon the creation of the United State, one of the core concepts on which the hopes for the new democracy were pinned was the ideal that its citizens would be enlightened individuals with clearly articulated rights and the opportunity for individual achievement and education. It was believed that in a free nation where the power belongs to the people, the commitment to education defines the progress of that democracy and is the catalyst for future progress. This core value has not only stood the test of time but has also grown in importance. In this new Information Era and international economy, education is an increasingly vital commodity, a precursor of potential success and a driving force of chance. It is importance to recognize, however, that we approach education today differently than in the past, partly because the kinds of jobs people had didn’t require the kind of basic education and specialized training that is often required in the workforce today. In the 1950s, for instance, only 20 percent of American jobs were classified as professional, 20 percent as skilled; and 60 percent as unskilled. Today, our world has changed. The proportion of unskilled jobs has fallen to 20 percent, while jobs now account for at least 60 percent of the workforce. Even more important, almost every job today increasingly requires a combination of academic knowledge and practical skills that require learning throughout a lifetime.


51. Education is defined in this passage as a driving force of chance because ........................



A. without education, no changes could have happened in American society so far.



B. the government of the United States wants to drive social changes in their own ways.

C. education has helped to bring about and orient most changes in the American workforce.

D. any American citizen who wants to changes his driving licence must be very well-educated.

52. The passage shows the percentage of jobs that require higher training in the US ........................ between 1950s and now.



A. has remained the same
B. has changed dramatically



C. has been reversed
D. has changed slightly

53. The phrase “enlightened individuals”  in the first sentence most likely means “people who ........................”



A. always appear brilliant-looking in public



B. have often been well-exposed to light



C. have acquired an adequate level of education



D. bring light to anywhere they go

54. In order to become a good American citizen today, in the author’s point of view, any individual must ........................

A. know well all his/her rights and be ready to grasp his/her opportunity of success in life

B. study carefully the history of American educational and vocational systems even since their creation



C. understand thoroughly the combination of academic knowledge and practical skills

D. move actively forward in the new Information Era and international economy with a prestigious diploma


55. Which of the following titles would be best for the passage?



A. Education and Jobs in the Past and at Present in the United States.



B. The Significant Role of Education in American Citizens’ Careers



C. Academic Knowledge and Practical Skills in American Professions



D. Recent Changes of Educational and Vocational Systems in America

Chọn phương án (A hoặc B, C, D) ứng với từ/cụm từ có gạch chân cần phải sửa trong các câu sau:


56. If you need (A) to keep fit, then why (B)  not take (C) on  (D) a sport such as badminton or tennis?


57. When her dog (A)  died, she (B) cried very (C) hardly for (D) half an hour.


58. Modern transportation can speed a doctor (A)  to  the side of a (B) sick person, (C)  even if the patient lives on an (D) isolating farm.


59. Tom’s very good (A) at science (B) when his brother (C) is  (D) absolutely hopeless.


60. Daisy has (A) such many things (B) to do that she (C)  has no time (D) to go out.
Chọn các phương án (A hoặc B, C, D) ứng với câu có nghĩa gần nhất với mỗi câu cho sẵn sau đây:


61. “Leave my house now or I’ll call the police!” shouted the lady to the man.



A. The lady threatened to call the police if the man didn’t leave her house.



B. The lady said that she would call the police if the man didn’t leave her house.



C. The lady told the man that she would call the police if he didn’t leave her house.



D. The lady informed the man that she would call the police if he didn’t leave her house.


62. He last had his eyes tested ten months ago.



A. He had tested his eyes ten months ago.



B. He had not tested his eyes for ten months then.



C. He hasn’t had his eyes tested for ten months.



D. He didn’t have any test on his eyes in ten months.


63. “You should have finished the report by now,” John told his secretary.



A. John reproached his secretary for not having finished the report.



B. John said that his secretary had not finished the report.



C. John reminded his secretary of finishing the report on time.



D. John scolded his secretary for not having finished the report.


64. “ If I were you, I would take the job,” said my room-mate.



A. My room-mate was thinking about taking the job.



B. My room-mate advised me to take the job.



C. My room-mate introduced the idea of taking the job to me.



D. My room-mate insisted on taking the job for me.


65. “It’s too stuffy in this room, isn’t it?” said the guest.



A. The guest suggested that the room should be aired.



B. The guest remarked that the room should be aired.



C. The guest said that the room was too crowded.



D. The guest said that there was too much stuff in the room.


66. “Cigarette?” he asked. “No, thanks.” I said.



A. He asked for a cigarette, and I immediately refused.



B. He mentioned a cigarette, so I thanked him.



C. He offered me a cigarette, so I promptly declined.



D. He asked if I was smoking, and I denied at once.


67. The doctor said, “You really ought to rest for a few days, Jasmine.”



A. Jasmine’s doctor insisted that she should rest for a few days.



B. The doctor suggested that Jasmine should take a short rest.



C. It is the doctor’s recommendation that Jasmine rested shortly.



D. the doctor strongly advised Jasmine to take a few days’ rest.


68. “I will pay back the money, Gloria.” Said Ivan.



A. Ivan apologised to Gloria for borrowing her money.



B. Ivan offered to pay Gloria the money back.



C. Ivan promised to pay back Gloria’s money.



D. Ivan suggested paying back the money to Gloria.


69. The children couldn’t do swimming because the sea was too rough.



A. The children were not calm enough to swim in the sea.



B. The sea was rough enough for the children to swim in.



C. The sea was too rough for the children to go swimming.



D.  the sea was too rough to the children’s swimming.


70. “Would you like to come to my birthday party, Sarah?” asked Frederic.



A. Frederic invited Sarah to his birthday party.



B. Frederic asked if Sarah was able to come to his birthday party.



C. Frederic asked Sarah if she likes his birthday party or not.



D. Frederic reminded Sarah of his coming birthday party.

71. opinion/ election/ fair

A. My opinion was fair about the election.



B. In my opinion, I think the election was fair.



C. According to my opinion, the election was fair.



D. In my opinion, the election was fair.


72. you/ really/ be/ able/ dress/ yourself/ age



A. You must really be able of dressing yourself in your age.



B. You should really be able to dress yourself at your age!



C. You have really been able of dressing yourself by your age.



D. You are really able of dressing yourself this age!


73. provide/ your handwriting/ legible/ test scorer/ accept/ your answer



A. Providing your handwriting is legible, the test scorer does not accept your answer.



B. Provided for your legible handwriting, the test scorer has to accept your answer.

C. Provided that your handwriting is legible, your answer will be accepted by any test          scorer.

D. Providing with  your legible handwriting, every test scorer must accept your answer.


74. imagine/ who/ happen/ run into/ yesterday/ just



A. You imagine just who happened to run into us yesterday!



B. Have you just imagined who happened to run into me yesterday?



C. Could you imagine who just happened to run into us yesterday?



D. Just imagine who I happened to run into yesterday!


75. Jack/ recover/ quickly/ his serious illness



A. Jack was recovered very quickly from his serious illness.



B. Jack has recovered quite quickly from his serious illness.



C. Jack will recover quite quickly after his serious illness.



D. Jack recovered more quickly over his serious illness.


76. be/ clear/ what/ expect/ you



A. Are you clear about your expectation?



B. Are you clear what is expected of you to do?



C. Are you expectations clear?



D. Are you clear what is expected of you?


77. hilltop/ have/ good/ view/ our village



A. The hilltop can make our village views better.



B. From the hilltop, our village can be well viewed.



C. From the hilltop, we can have a better view of our village.



D. From the hilltop, our village can have a better view.


78. students/ remember/ deadline for entries/ final test



A. All the students surely remember the deadline for entries for the final test.



B. All the students must remember well the deadline for entries for the final test.



C. All the students should remember clearly the deadline for entries for the final test.



D. All of the students can certainly remember the deadline for entries for the final test.



79. man/ sentence/ 15 years/ prison/ he/ prove/ guilty



A. The man will get a sentence for himself to 15 years in prison if he proves himself guilty.



B. The man was sentenced about 15 years in prison and proved himself guilty.



C. The man was sentenced to 15 years in prison because he had been proved guilty.

D. The man should make his final sentence after 15 years in prison as he proved himself guilty


80. school-leavers/ choose/ college/ employment/ immediate



A. School-leavers can choose either college or immediate employment.



B. School-leavers can make a choice among college and employment immediately.



C. School-leavers can choose either college and employment immediately.


D. School-leavers can make an immediate choice of neither college nor employment.  
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1. All the sentences below use ‘the’, which one is correct?

a. Can you pass the sugar please?


b. The crime is a problem in many big cities. 

c. The apples are good for you.


d. I love the skiing.

2. Which of the following does not need ‘the’?

a. He’s sailing up the Nile for his holidays. 

b. My favourite Sea is the Mediterranean.

c. Have you ever been to the Bahamas?

d. I’d love to visit the America.

3. If only I __________  crashed the car!

a. had

b. hadn’t 

c. did

d. didn’t

4. Where is he? He should __________   home hours ago. 

a. be

b. were


c. have been 
d. had been

5. So you’re a doctor? _________, I finish my training next year.

 a.  Let me see
b.  Right

c.  Listen 
d.  Well

6. A: Do you know her number? - B: __________, it’s here somewhere. 

a.  Let me see
b.  Mind you

c.  Well

d.  You see

7. A: It’s quite a problem, I don’t know if I can do it. - B: __________, I’ll help you, don’t worry.

a.  Mind you
b.  Let me see

c.  Listen
d.  Well

8. I’m afraid you can’t come in,  ________ you have to be 18.

a.  you see

b.  well


c.  listen
d.  right

9. I’m tired, ________, I only had 3 hours sleep last night!

a.  mind you 
b.  right


c.  listen
d.  let me see

10. ________, let’s start, shall we?

a.  let me see
b.  mind you

c.  right
d.  well

11. I tried ringing her all morning but I couldn’t get ________. 

a.  down

b.  up

c.  over

d. through

12. 2. My dad’s been unemployed for 6 months, it’s really getting him ________.

a.  over 

b.  down 
c.   by

d.  up

13. Hmmm, the kids are very quiet, I wonder what they’re getting ________ to?

a.  down 

b.  by

c.   up

d.  through

‘Get up to something’ means ‘do something you shouldn’t be doing’

14. Over the next couple of years the price of plasma televisions is expected to drop ________ 20%.
a. by

b. at

c. in

d. to
15. The price of such televisions should peak ________ a little over $1200.
a. by

b. at

c. in

d. on
16. This price should be reached ________2009.
a. on

b. at

c. by

d. about
17. This drop ________  20% will make plasma televisions affordable for the average person.
a. by

b. of


c. at

d. to
18. The prices of televisions have been falling ________ 1956, when they first came on the market  
a. on

b. from


c. in

d. to

19. I hate school, the teachers make us  _________ so much homework every day!

a.   do

b.   doing

c. to do 


d. did

20. On Friday afternoons our teacher sometimes lets us ________  home early.

a.   go

b.   to go 

c. going 

d.   went

21. “Excuse me sir, are we allowed ________  dictionaries into the exam?”

a.   take

b.   to take 

c. taking 

d.   took

22. I go to the gym to build up my __________. 

a. length

b. warmth

c. depth


d. strength

23. I’ve been seeing my girlfriend for 6 months now, I suppose it’s quite a serious _________. 

a. friendship 
b. membership

c. companionship 
d. relationship

24. When she died, she gave _________  all her money to a charity for cats.

 a. away

b. out


c. on 


d. off

25. You boy! Don’t walk ________ when I’m speaking to you. 

a. on

b. to


c. away 

d. out

26. Ouch! He’s fallen ________ his motorbike and broken his shoulder. 

a. off

b. away


c. out of 

d. down

27. Can you pick ________ a few things in the supermarket? We need milk, bread and  rolls.

a. off 

b. in 


c. up


d. away

Choose the word whose UNDERLINED part is pronounced differently from the others in each group.

28. A. habit

B. dolphin

C. effective

D. climate

29. A. fauna

B. authority

C. square

D. rainfall

30.  A. culture

B. country

C. such


D. music

Choose the word whose main stress is placed DIFFERENTLY from the others in each group

31. A. appear

B. version

C. tradition

D. perhaps

32. A. excellent

B. ordinary

C. dramatic

D. instrument

33. - This file is very important. You should include it in our document.

- I know. It is _________.

       A. indispensable
B. indistinct

C. significant

D. optional 

34. Pop music has become _______ in our country in the last few decades. Most young people like it.

       A. popular

B. favorable

C. special

D. enjoyable

35. _ Ecotourism has been developed greatly, hasn’t it?

    _ Yes. Many people have tried to preserve the ________ of many natural places.

       A. reservation
B. destruction

C. ecology

D. nonprofit

36. The Nile, ________, is the home of a great variety of fish.

       A. which is in Egypt
B. where is in Egypt

C. in which is in Egypt

D. that is in Egypt

37. I’m _________ you liked the film. I thought it was rather __________.

       A. surprise / disappoint

B. surprised / disappointed

       C. surprising / disappointed

D. surprised / disappointing

38. I never read ________ newspapers during the week, but I buy ______Observer every Sunday  and I read it in ________bed.

       A. no article / the / no article
B. the / the / no article
C. the / a / the


D. a / a / the

39. Tourists __________ to make campfires in National parks.

       A. do not allow


B. aren’t allowed
C. won’t allow


D. isn’t allowed

40. If he had been more careful, he _______________ .

       A. won’t fall


B. wouldn’t fall
 C. wouldn’t have fallen

D. would haven’t fallen

41. We should participate in the movements ______________ the natural environment.

       A. organizing to conserve


B. organized conserving

       C. which organize to conserve

D. organized to conserve

Choose the words or phrases that are not correct in standard English.

42. The original World Cup trophy was given permanent to Brazil to honour that country’s record third world cup title in Mexico in 1970. 


A             B                           C 

                 D


                                                                                                                                                                                                          

43. In very early times,people around the fire were entertained by storytellers with stories of heroes’wonderful actions 

                           A                  B                            C    

&victory.

   D 
                                

   







                                                      

44. When I got home, Irene was lying in bed thinking about what a wonderful time she’s had.

A                             B                        C 



       D           

45. Shortly before the Allied invasion of Normandy, Ernest Hemingway has gone to London as a war correspondent 

          A                                       B      




    C                                         D            

for Colliers
46. People who reverse the letters of words _______ to read suffer from dyslexia.

A. if they tried
B. when trying

C. when tried

D. if he tries

47. Featured at the Henry Ford Museum of antique cars dating from 1865.

A. an exhibit is
B. an exhibit

C. is an exhibit

D. which is an exhibit

48. Rubber _______ from vulcanized silicones with a high molecular weight is difficult to distinguish from natural rubber.

A. is produced
B. producing

C. that produces

D. produced

49. _______ in scope, romanticism was a reaction against neoclassical principles.

A. Mainly literary



B. It was mainly literary


C. The main literature was 


D. The literature was mainly

50. The Central Intelligence Agency (CIA) _______ came about as a result of the National Security Act of 1947.

A. what

B. it was

C. was what

D. it was what

51. Oil shale is a soft, fine-grained sedimentary rock _______ oil and natural gas are obtained.

A. from

B. is from

C. is which

D. from which

52. _____ appears considerably larger at the horizon than it does overhead is merely an official illusion.

A. The Moon
B. That the Moon
C. When the Moon
D. The Moon which

53. Florida, ________ the Sunshine State, attracts many tourists every year.

a. is


b. known as

c. is known as

d. that is known as

54. While ________ to help Tim with his math, I got impatient because he wouldn’t pay attention to what I was saying.

a. I am trying
b. having tried

c. I try


d. trying

55. One of the dinner _______ broken.

a. plate is

b. plates are

c. plates is

d. plate are

Read the test then choose the best answer.
I know that it is my job to make sure that everything goes well for the tourists and I feel I work hard for the company. I cannot be blamed for last week. I met the group at the airport and took them to the coach. The coach driver was a bit annoyed because the flight was late. But it wasn’t far to the hotel and everyone was looking forward to their dinner. We hadn’t used the Hotel Riviera before but our normal one had a conference in it so it was fully booked. When I announced our arrival at the reception desk, they said they were full. I had booked rooms for the group but the manager said they were cancelled by phone a few days before. He insisted that he recognised my voice and that I had made the phone call. We had a bit of an  argument but they obviously didn’t have enough rooms. In the end, the manager phoned hotels in the town and found rooms for everyone. but in four different hotels. By this time, the coach had gone, so we had to get taxis and some of the tourists started to get very angry with me. I still don’t know who made that phone call but it definitely wasn’t me ...

56.What is the writer trying to do?

A. argue                 

B. explain            
C.  apologise       
D complain

57.Who was the text written to?


A. one of the tourists


B. the writer’s employer


C. the hotel manager


D. the coach company

58.Why weren’t any rooms available at the Hotel Riviera?

A. A conference was taking place there.

B. There were more people in the group than expected.

C. Someone had forgotten to book them.

D. Someone had said they were not needed.

59.What happened in the end?

A. The tourists got angry with the hotel manager.
B. The tourists couldn’t stay together.

C. The writer found other hotels with rooms.

D. The writer called the coach driver back.

60.Which of the following diaries was written by one of the tourists?

      A. Someone had made a mistake with our hotel booking and the hotel had given our rooms to other people.

      B. The hotel we were taken to wasn’t good enough so we asked to change to a different one.

      C. We got to the airport and had to wait for the coach. So it was really late when we got to the hotel.

       D. The coach driver took us to the wrong hotel and they know nothing about us.

Choose A,B,C,D or E which has the same meaning with the given one.

61.Payment must be made at the time of booking.

                 A You must pay before you book

B.You are not allowed to pay when you book.

C. You must pay when you book. 
             D.Payment in advance is acceptable if you want to book.

62.The team is being sponsored by a local sport wares company.

A. The team is part of the company.






B. The team is a local one.

C. The company is giving money to support the team’s activities.


D.The company used to  sponsor the team.

63.I could have gone by bus and so saved a lot of money.

A. wouldn’t have saved much if he had taken the bus.          B.would have gone by bus if he had saved money for the fare.

C. travelled by bus, and it didn’t cost him much.
            D.  would have spent less money if he had travelled by bus.    

64. She would eat nothing but small pieces of bread and butter.
This sentence means that she

A.  ate small pieces of bread and butter but didn’t like them.


B.  ate only some small pieces of bread and butter.

C. didn’t eat anything, not even the bread and butter.



D.  wouldn’t touch the bread and butter, but she ate other things.

65. Peter  has hardly worked since April.

This means that since April

      A.  Peter has been fully employed.   C. Peter has one very little work. 

      B. Peter has worked very well.          D. Peter hasn’t worked at all.

Read the passage and choose the best answer.

The most famous diary in English was written by Samuel Pepys. It gives a detailed and interesting (66) …………of everyday life in England (67) ………… 1660 and 1669. Pepys writes about important news stories of the time, like disease, an enemy navy (68) ………… up the river Thames, and the Great Fire of London.


He also writes about himself, even about his (69) …………he often slept during church or (70) ………… at the other people. He describes his home life – a (71) ………… with his wife and how they became friends again, his worry about her

illness. As well as books, he liked music, the theatre, card (72) …………
, and parties with good food and (73) …………of fun.


Pepys was a busy man who had many important (74) …………
- he was a Member of Parliament and President of the Royal Society. He is (75) …………for his work for the British Navy.

	66
	A description
	B letter
	C notice
	D story

	67
	A between
	B from
	C through
	D to

	68
	A driving
	B flying
	C running
	D sailing

	69
	A accidents
	B plans
	C tastes
	D faults

	70
	A looked
	B prayed
	C talked
	D thought

	71
	A conversation
	B discussion
	C quarrel
	D talk

	72
	A battles
	B games
	C matches
	D plays

	73
	A amount
	B plenty
	C much
	D some

	74
	A acts
	B hobbies
	C jobs
	D studies

	75
	A reviewed
	B remembered
	C reminded
	D reported


Read the passage and choose the best answer.

I just want to introduce the next area we’ll cover: the food chain. Food chains are divided into three types. The first one is the predator( [‘predətə(r)]: dong vat an thit)  chain, in which larger animals feed on smaller ones, such as when a bird eats a fish. The second is the parasite chain, in which smaller animals live off larger ones, such as a tapeworm living in a eat’s intestines. And the third type is the saprophytic chain in which a micro-organism feeds off dead matter.

In each type of chain, potential energy is lost at each level. Let’s take the example of a green plant. It gets energy from the sun by photosynthesis, but can use only about 2 or 3 percent of the energy that falls on it. The plant is then eaten by a rabbit, but the rabbit can use only about 10 percent of the potential energy of the plant. The rabbit is then eaten by a fox, which can use about 12 - 15 percent of the energy from the rabbit. And finally, the fox is eaten by a mountain lion. As you can see, at each step the percentage of energy obtained increases, but all in all, a great deal of energy is lost at each step.

That’s all for today. Read the next chapter in your books. We’ll go on with more about the food chain next time.

76. What is the major topic of this lecture?

A Predators in the animal world.                         
B Divisions of the food chain. 

C The loss of potential energy in predators.        
D A parasitic chain.

77. Which of the following is an example of a predator chain?

A.  A bird eating a fish.                                   
B A rabbit eating grass.

C A tapeworm living in an animal.                     
D A plant using energy from the sun,

78. How much of the potential energy from the sun can a plant use? 

      A 2 - 3 percent.         
B 10 percent.                   C 12 - 15 percent.                 D More than 15 percent.

79. What happens at each step of the food chain? 

               A.  A plant uses energy.                                        B Animals kill other animals.

               C Potential energy is lost.                                 D A micro-organism feeds off dead matter.

80. What is eaten in a saprophytic chain?

A.  A green plant.                  B  Dead matter.       C A smaller animal.               D A rabbit.
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Choose the word which has different stress pattern:

1. A primitive 

B particular 

C continuous 

D connected

2. A intensify 

B summary 

C philosophers 

D instruction

3. A pressure 

B medical 

C immortal 

D lightning

4. A language 

B lyrical 

C evidence 

D disadvantage

5. A sedentary 

B available 

C additional 

D majority

Choose the best option:

6. _____ is a time that is supported to be free from worries. 

A. Child 

B. Childlike 

C. Childish 

D. Childhood 

7. Within a couple of hours, a very important _____ on the new tax policy will be made. 

A. announce 

B. announcement 
C. announcer 

D. announcing

8. One _____ of public transport is its unreliability.

A. benefit 

B. disadvantage 
C. harm 

D. drawback 

9. _____ accepting your job offer, I'd like to know a bit more about the company. 

A. In advance 

B. In order 

C. Until 

D. Before 

10. Let's have a _____ of tennis after lunch if you're not tired, shall we?

A. match 

B. play 


C. game 

D. party 

11. He played a very important ______ in politics until he was well over 80. 

A. scene 

B. job 


C. position 

D. part

12. The noise from the traffic outside stopped me from _____ to sleep. 

A. falling 

B. starting 

C. beginning 

D. going 

13. She _____ down completely on hearing of her friend's death. 

A. broke 

B. turned. 

C. put 


D. fell 

14. Jack can speak two languages. One is English. _____ is Vietnamese. 

A. Other 

B. The other 

C. Another 

D. Others 

15. The manager did not offer her the job because of her untidy _____. 

A. sight 

B. view 

C. appearance 

D. presence 

16. "Is that a new coat?" "Yes, what _____ it?”

A. are you thinking of 
B. do you think of 
C. is your idea about 
D. did you think about 

17. How do you do? ______.

A I'm very fine, thanks 
B. Thanks to my mother C. How do you do? 
D. With my brother.

18. The girl _____ is my neighbor. 

A. talks to the lady over there. 


B. is talking to the lady over there 

C. was talking to the lady over there 

D. talking to the lady over there 

19. ______ with her boyfriend yesterday, she doesn't want to answer his phone call. 

A. Having quarreled 



B. Because having quarreled 

C. Because-of she quarreled  


D. Had quarreled 

20. My daughter often says that she won't get married until she _____ 25 years old.  

A. is 


B. will be 

C. will have been 
D. has been 

21. My father asked me _____ of the film. 

A. what did I think 
B. what I think 

C. what I thought 
D. what I did thought 

22. Everyone in both cars _____ injured in the accident last night, ______? 

A were / weren't they 
B. was / weren't they 
C. was / wasn't he? 
D. were / were they 

23. The more he tried to explain, ______ we got 

A. the much confused 
B. the many confusing 
C. the more confusing 
D. the more confused 

24. Not only _____ us light, but it also gives us heat. 

A. the sun gives 
B. the sun has given 
C. has the sun given  
D. does the sun give 

25. If you hadn't stayed up so late last night, you ______ sleepy now. 

A. wouldn't have felt 
B. wouldn't feel 
C. wouldn't fell 

D. wouldn't have fallen 

Read the passage and choose the best answer:

Within the last century the amount of carbon dioxide in the atmosphere (26) ____ dramatically, largely (27) ____ people burn vast amounts of fossil fuels - coal and petroleum and its derivatives. Average global temperature also has increased - by about 0.6 Celsius degree within (28) ____ past century. 

Atmospheric scientists (29) ____ found that at least half of that temperature increase (30) ____ attributed to human activity. They predict that (31) ____ dramatic action is taken, global temperature will continue (32) ____ by 1 A to 5.8 Celsius degrees over the next century. Although (33) ____ increase may not seem like a great difference, during the last ice age the global temperature (34) ____ only 2.2 Celsius degrees cooler than it (35) ____ presently. 

26. A. has risen 

B. rose 


C. has raised 

D. raised 

27. A. because of 

B. although 

C. despite 

D. because 

28. A. a 


B. some 

C. the 


D. any 

29. A. had 


B. have 

C. are 


D. ought to 

30. A. should be 

B. is being 

C. had been 

D. can be 

31. A. unless 

B. if 


C. provided 

D. as long as 

32. A. be rising 

B. to rise   

C. to be risen 

D. to be rising 

33. A. so much 

B. so 


C. such an 

D. such 

34. A. had been 

B. has been 

C. is 


D. was 

35. A. is 


B. has been 

C. was 


D. will be 

Read the passage and choose the best answer:

Clean freshwater resources are essential for drinking, bathing, cooking, irrigation, industry, and for plant and animal (36) ____. Unfortunately, the global supply of freshwater is (37) ____ unevenly. Chronic water shortages (38) ____ in most of Africa and drought is common over much of the globe. The (39) ____ of most freshwater supplies - groundwater (water located below the soil surface), reservoirs, and rivers - are under severe and (40) ____ environmental stress because of overuse, water pollution, and ecosystem degradation. Over 95 percent of urban sewage in (41) ____ countries is (42) ____ untreated into surface waters such as rivers and harbors; 

About 65 percent of the global freshwater supply is used in (43) ____ and 25 percent is used in industry. Freshwater (44) ____ therefore requires a reduction in wasteful practices like (45) ____ irrigation, reforms in agriculture and. industry, and strict pollution controls worldwide. 

36. A. survive 

B. survived  

C. surviving 

D. survival 

37. A. delivered 

B. distributed 

C. provided 

D. given 

38. A. exist 

B. lie 


C. show 

D. l:itay 

39. A. resources 

B. springs 

C. sources 

D. starting 

40. A. increasing 

B. growing 

C. climbing 

D. ascending 

41. A. growing 

B. miserable 

C. poverty 

D. developing 

42. A. recharged 

B. discharged 

C. charged 

D. discharging 

43. A. farming 

B. planting 

C. agriculture 

D. growing 

44. A. reservation 

B. conservation 

C. preservation 

D. retention 

45. A. ineffective 

B. illogical 

C. irrational 

D. inefficient 

Identify one mistake in the following sentences:

46. (A) Mined over 2,000 years (B) ago, copper is one of (C) the earliest (D) know metals. 

47. (A) The average adult (B) has got from two (C) to five (D) colds each year. 

48. Computers (A) have made (B) access to information (C) instantly available just (D) by push a few buttons. 

49. Some gorillas (A) beat their chests (B) as an (C) express of (D) high spirits. 

50. Because vitamins (A) contained (B) in a wide (C) variety of foods, people seldom (D) lack most of them.

Choose the best option:

51. Simon physics at all. 

A. was hardly not interested in 


B. was hardly interested in 

C. was hardly not interesting on  

D. was not hardly interested in 

52. If a student ____ it is very unlikely that he will receive a good education. 

A. behaves badly arid who is lazy, 

B. who behaves badly and was lazy, 

C. who behaves badly and is lazy, 

D. behaves badly and is lazy, 

53. The audience, ____ enjoyed the performance. 

A. most of them were students, 


B. most of whom were students, 

C. they were mostly students, 


D. they themselves were students, 

54. The tests .in this. book are arranged ____ 

A. in order of difficult 



B. in order of difficulty 

C. in orderly difficult 



D. in the order of difficulty 

55. The success of the play was due to ____

A. the actors and how it was produced

B. the acting and the production 

C. the actors and its production 


D. how they acted and the production 

Choose the correct sentence which has the same meaning as the given one: 

56. It is a pity you didn't tell us about this.  

A. I wish you have told us about this.  

B. I wish you would tell us about this. 

C. I wish you had told us about this 

D. I wish you would have told us about this. 

57. I've never gone to the car wash before. 

A. This is the first time I have had my car washed. B. This is the first time I have washed my car. 

C. Never have I washed my car before.

D. Never has my car been washed. 

58. After he had finished the report, he submitted it to the director. 

A. Finishing the report, it was submitted to the director. 

B. Having finished the report, it was submitted to the director. 

C. Having finished the report, he submitted to the director. 

D. Having finished the report, he submitted it to the director. 

59. Jean could not help weeping when she heard the bad news. 

A. Jean could not stop herself from weeping at the bad news. 

B. Jean could not allow herself to weep at the bad news. 

C. Jean could not help herself and so she wept at the bad news. 

D. Jean could not help herself because she was weeping. 

60. The best solution was thought of by the monitor. 

A. The monitor came up with the best solution. 

B. The monitor was good with the best solution.

C. No one could solve the problem except the monitor. 

D. The best solution was monitored by the thought. 

Read the passage and choose the best answer:

In the United States, presidential elections are held in years evenly divisible by four (1888, 1900, 1964, etc.). Since 1840, American presidents elected in years ending with zero have died in office, with one exception. William H. Harrison, the man who served the shortest term, died of pneumonia only several weeks after his inauguration. 

Abraham Lincoln was one of four presidents who were assassinated. He was elected in 1860, and his untimely death came just five years later. James A. Garfield, a former Union army general from Ohio, was shot during his first year in office (1881) by a man to whom he wouldn't give a job. While in his second term of office (1901), William McKinley, another Ohioan, attended the Pan-American Exposition in Buffalo, New York. During the reception, he was assassinated while shaking hands with some of the guests. John F. Kennedy was assassinated in 1963 in Dallas only three years after his election. 

Three years after his election in 1920, Warren G, Harding died in office. Although it was never proved, many believe he was poisoned. Franklin D. Roosevelt was elected four times (1932, 1936, 1940 and 1944), the only man to serve so long a term. He had contracted polio in 1921 and eventually died of the illness in 1945. 

Ronald Reagan, who was elected in 1980 and reelected four years later, suffered an assassination attempt but did not succumb to the assassin's bullets. He was the first to break the long chain of unfortunate events. Will the candidate in the election of 2020 also be as lucky? 

61. All of the following were election years EXCEPT ____ 

A. 1960 

B. 1930 

C.1888 

D.1824 

62. Which president served the shortest term in office? 

A. Abraham Lincoln 



B. Warren G. Harding 

C. William McKinley 



D. William H. Harrison 

63. Which of the following is true? 

A. All presidents elected in years ending in zero have died in office. 

B. Only presidents from Ohio have died in office. 

C. Franklin D. Roosevelt completed four terms as president. 

D. Four American presidents have been assassinated. 

64. How many presidents elected in years ending in zero since 1840 have died in office? 

A. 7 


B. 5 


C. 4 


D. 3 

65. The word "inauguration" in the first paragraph means most nearly the same as 

A. election 




B. acceptance speech 

C. swearing-in ceremony 


D. campaign 

66. All of the following presidents were assassinated EXCEPT ____ 

A. John F. Kennedy 



B. Franklin D. Roosevelt 

C. Abraham Lincoln 



D. James A. Garfield 

67. The word "whom" in the second paragraph refers to ____ 

A. Garfield 

B. Garfield's assassin 
C. a Union army general D. McKinley 

68. The word "assassinated" in the second paragraph is closest in meaning to 

A. murdered 

B. decorated 

C. honored 

D. sickened 

69. In the third paragraph, "contracted" is closest in meaning to ____ 

A. communicated about B. developed 

C. agree about 

D. notified 

70. How long did Warren G, Harding work as a president? 

A. 2 years 

B. 3 years 

C. 4 years 

D. 4 years 

Read the passage and choose the best answer:

After inventing dynamite, Swedish-born Alfred Nobel became a very rich man. However, he foresaw its universally destructive powers too late. Nobel preferred not to be remembered as the inventor of dynamite, so in 1895, just two weeks before his death·, he created a fund to be used for awarding prizes to people who had made worthwhile contributions to humanity. Originally there were five awards: literature, physics, chemistry, medicine, and peace. Economics was added in 1968, just sixty-seven years after the first awards ceremony. 

Nobel's original legacy of nine million dollars was invested, and the interest on this sum is used for the awards which vary from $30,000 to $125,000. 

Every year on December 10, the anniversary of Nobel's death, the awards (gold medal, illuminated diploma, and money) are presented to the winners. Sometimes politics plays an important role in the judges' decisions. Americans have won numerous science awards, but relatively few literature prizes. 

No awards were presented from 1940 to 1942 at the beginning of World War 11. Some people have won two prizes, but this is rare; others have shared their prizes. 

71. The word "foresaw" in the first paragraph is nearest in meaning to __ 

A. prevailed 

B. postponed

C. prevented 

D. predicted 

72. The Nobel prize was established in order to ___ 

A recognize worthwhile contributions to humanity 
B. resolve political differences 

C. honor the inventor of dynamite


D. spend money 

73. In which area have Americans received the most awards? 

A Literature 

B. Peace 

C. Economics

D. Science 

74. All of the following statements are true EXCEPT 

A. Awards vary in monetary value 

B. ceremonies are held on December 10 to commemorate Nobel's invention 

C. Politics plays an important role in selecting the winners 

D. A few individuals have won two awards 

75. In how many fields are prizes bestowed? 

A. 2 


B. 5 


C.6 


D. 10 

76. It is implied that Nobel's profession was in ____ 

A economics 

B. medicine 

C. literature 

D. science 

77. In the first paragraph, "worthwhile" is closest in meaning to ___ 

A. economic 

B. prestigious 

C. trivial 

D. valuable 

78. How much money did Nobel leaves for the prizes? 

A. $30,000

B. $125,000 

C. $155,000 

D. $9,000,000 

79. What is the main idea of this passage? 

A. Alfred Nobel became very rich when he invented dynamite. 

B. Alfred Nobel created awards in six categories for contributions to humanity. 

C. Alfred Nobel left all of his money to science 

D. Alfred Nobel made a lasting contribution to humanity 

80. The word "legacy" in the second paragraph means most nearly the same as ____ 

A. legend 

B. bequest 

C. prize 

D. debt 
----- The end -----
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    ĐỀ SỐ 5

I. Phonetics:

A/ Choose the word with different pronunciation of the underlined part:

1. A dozen 

B glove 

C love 


D stove

2. A kites 


B catches 

C oranges 

D buzzes
3. A wood 

B good 


C food 


D childhood

4. A whistled 

B laughed 

C lodged 

D received
5. A prayer 

B player 

C mayor 

D flare
B/ Choose the word with different stress pattern:

6. A luggage 

B increase 

C benefit 

D argument

7. A satisfaction 

B disappointed 

C ancestry 

D reassure

8. A democracy 

B committee 

C. proficiency 

D television

9. A energy 

B primary 

C facilities 

D pleasure

10. A contemporary 
B geometry 

C trigonometry 

D succession

II. Vocabulary:

A/ Choose the word that best fits each gap of the passage:

To many people, smoking is not just a pleasure, it is an (11) -----------. They need it, depend on it and can’t stop it. If they haven’t smoked for some hours, they feel a (12) ---------- for a cigarette. They often (13) ----------- which means they light another cigarette immediately after they have   (14) ---------- out the one before.

Smoking is often considered (15) ------------, since many people don’t like the (16) -------- of cigarettes or the sight of the smoker’s (17) ----------- fingers or ashtray full of cigarette – ends. Above all, smoking is harmful to health and in many countries a (18) ---------- is printed on every (19) ---------- of cigarettes. Scientists have proved that there is a link between smoking and a disease which can be (20) -------------, cancer.

11.  A attraction 

B addition 

C addiction 

D admiration

12.  A likeness 

B craving 

C like 


D desire

13.  A over-smoke 

B self-smoke 

C chain-smoke 

D non-smoke

14.  A thought 

B made 

C put 


D given

15.  A militant 

B antisocial 

C illegal 

D anti-pollutant

16.  A odour 

B smell 

C taste 


D flavour

17.  A stained 

B dirty 


C dusty 

D spotted

18.  A saying 

B signal 

C sign 


D warning

19.  A pack 

B packing 

C packet 

D backpack

20.  A fatal 


B hard 


C immoral 

D perilous

B/ Choose the word that best fits each gap of the sentence:

21.  Latin music is very --------- in countries where people speak Spanish and Portuguese.

A common 


B usual 

C often 


D frequent

22.  This sort of behaviour will not be ----------.

A tolerate 


B tolerated 

C tolerance 

D tolerant

23.  Farmers can enrich the soil by using ------------ .

A fertile 


B fertilize 

C fertility 

D fertilizers

24.  ------------ for government posts are always thoroughly investigated before being admitted.

A apply 


B applying 

C applied 

D applications

25.  Nowadays, chemicals are ----------- into some fruits to reduce decay.

A injection 


B injecting 

C inject 

D injected

26.  The most important thing is to keep yourself ------------.

A occupation 

B occupied  

C occupant 

D occupational

27.  The soil must be kept damp at all times or the plant will die.

A moist 


B wet 


C dry 


D arid

28.  Our grandfather is buried in that graveyard.

A morgue 


B churchyard 

C cemetery 

D both B & C

29.  A great --------- of people in this country nowadays own a TV set.

A part 


B majority 

C unit 


D mass

30.  My sister is an expert in wildlife and its ------------.

A conversation 

B preparation 

C reservation 

D conservation

III. Grammar:

 Choose the word or phrase that best fits each gap of the sentence:

31.  My brother -------- trouble with her motorbike, so he has to take the bus to work these days. 

A have 


B had 


C was having 

D is having

32.  A fortune–teller predicted ----------- inherit a lot of money before the end of the year. 

A that I would 

B that I 


C that I will 

D that I did

33.  Ben and his brother are ------------ hard – working carpenters that I am sure they will ------------- a success of their business. 

A so/ do 


B so/ make 

C such/ do 

D such/ make

34.  I wouldn’t feel better now if you ---------- to me about it last night. 

A hadn’t told 

B hadn’t talked 
C didn’t tell 

D didn’t talk

35.  No sooner ----------- recovered from flu than he had a  stomachache. 

A had he 


B he 


C he was 

D was he 

36.  It is difficult to tell identical twins ---------------. 

A on 


B out 


C apart 


D over

37.  I’d rather you --------- something more formal to work. 

A wore 


B wear 


C should 

D worn

38.  When Peter first went abroad to study, he ----------- in a dormitory before. 

A had never lived 

B have never lived 
C never lived 

D never lives

39.  John’s mother has more than two ---------- workers under ----------. 

A hundreds/ her 

B hundreds/ hers 
C hundred/ hers 
D hundred/ her

40.  My sister claimed never to ---------- so hard in her life. 

A work 


B working 

C having worked 
D have worked

41.  They discussed ---------- with him all afternoon but couldn’t make a decision. 

A problem 


B of the problem 
C the problem 

D about the problem

42.  He applied for training as a pilot, but they turned him ----------- because of his poor eyesight. 

A up 


B back 


C down 

D over

43.  Peter quit his job at the advertising agency, ---------- surprised everyone. 

A which 


B that 


C who 


D when

44.  I can’t help ----------- him in spite of his faults. 

A admire 


B admired 

C to admire 

D admiring

45.  “What instructions did your boss give you?” “He required that Alice ---------- the meeting.” 

A would attend 

B attends 

C attended 

D attend

46.  We intend to do ----------- with the old system as soon as we have developed a better one. 

A up 


B away 

C down 

D in

47.  In China an ancient medical treatment ---------- as a acupuncture is sometimes used during surgery. 

A to know 


B knowing 

C known 

D knows

48.  It’s imperative that this letter ----------- immediately. 

A is sent 


B will be sent 

C send 


D be sent

49. The effects of anaesthetic used for the operation take quite a time to ------------- off. 

A wear 


B turn 


C give 


D move

50.  John lost the ------------ bicycle he bought last week and his parents were very angry with him because of his carelessness. 

A beautiful Japanese blue new


B beautiful new blue Japanese 

C new beautiful blue Japanese 


D Japanese beautiful new blue 

IV. Use of English:

A/ Choose the underlined word or phrase  in each of the sentences that needs correcting:

51.  A farmer’s tractor is like a powerful horse as it plows field, pulls trailers and moves heavy loads.

                                         A                                  B               C                                     D 

52.  Harvey seldom pays his bills on time, and his brother does, too.

                                         A               B              C                     D 

53.  The officials object to them wearing long dresses for the inaugural dance at the country club. 

                                           A          B                             C                                                D 

54.  The pilot and the crew divided the life preservers between the twenty frantic passengers.       

                              A               B                                         C                                            D 

55.  The instructor advised the students for the procedures to follow in writing the term paper. 



                      A               B                 C           D 

B/ Choose the correct sentence which has the same meaning as the given one in italics:

56. Would you like to go out for a drink?

A. Do you feel like going out for a drink? 
C. Is going out for a drink to your liking?

B. Do you like going for a drink? 


D. Would you mind going out for a drink?

57.  Anyone who misses more than fifty percent of the classes deserves to fail.

A. More than fifty percent is too much for one class.

B. Fifty percent of the classes have failed the exams.

C. People who fail must make up fifty percent of the classwork.

D. These who are absent more than half the time should fail. 

58.  She’s bound to see Harry at the meeting.

A. She’s obliged to see Harry at the meeting. 

C. She’s on her way to see Harry at the meeting.

B. It’s certain that she will see Harry at the meeting. 
D. She’s too busy to see Harry at the meeting.

59. According to some people, the sinking of the Titanic was the captain’s fault.

A. According to some people, the captain was to blame for the sinking of the Titanic.

B. According to some people, the captain blamed for the sinking of the Titanic.

C. According to some people, the sinking of the Titanic made the captain blameful.

D. According to some people, it was the sinking of the Titanic that the captain was blamed.

60.  Had the announcement been made earlier, more people would have attended the lecture.

A. The lecture was held so late that few people attended it.

B. More people came late to the lecture because of the late announcement.

C. The late announcement helped make the lecture well – attended.

D. Few people came to the lecture because the announcement was not made earlier.

V. Reading comprehension:

1. Read the passage and choose the best answer:

The planet Earth is 4,600 million years old. It is difficult for us to think about such an enormous length of time because it has little meaning for us. We can, however, simplify the idea to make it more understandable. We can compare the planet Earth to a person of forty six years of age.

Nothing is known about the first seven years of this person’s life. Very little information exists about the middle period either. It was only at the age of forty – two that the Earth began to flower. Dinosaurs and great reptiles did not appear until one year ago, when the planet was forty five. Mammals only arrived eight months ago. In the middle of last week, man – like apes became ape – like men and began to communicate with each other. Last weekend, the Ice Age covered the Earth.

Modern man has only been around for four hours. During the last hour man discovered agriculture. The industrial Revolution and the rise of large cities began just six seconds ago. During the short time, modern man has made a rubbish tip of the Earth. In one minute, he has increased his numbers to terrible proportions, and has caused the death of hundreds of species of animals. He has robbed and destroyed the planet in his search for fuels. Now he stands, like a violent, spoilt child, delighted at the speed of his rise to power, on the edge of the final mass destruction and of killing all the life which exists in the solar system.

61. The passage tells us that

A. A great deal is known about how the Earth was created.

B. life on Earth began relatively recently.

C. more is kown about the first part of the Earth’s life than the middle part.

D. scientists are well–informed about the middle part of the Earth’s life.

62.  We are informed by the author that

A. the  dinosaurs appeared during the middle period

B. mammals and great reptiles both appeared at the same time

C. there were more than forty – five kinds of great reptiles

D. ape -like man appeared before the last Ice Age.

63.  The author is mainly interested in

A. the time when man first evolved from apes. 

C. the effects of farming.

B. what has happened since the Industrial Revolution 
D. the period before the last Ice Earth

64. It would appear that the main danger ahead is that

A. man will destroy everything on earth  


C. there will be a population explosion

B. man will use up all the fuels 



D. more species of animal may die out

65. The author’s general view of man seems to be that

A. he has no right to be so destructive. 


C. he will be able to control the environment

B. he has been the most successful animal  


D. he has learnt a lot from past mistakes 

2. Read the passage and choose the best answer:

Most people think of deserts as dry, flat areas with little or no rainfall, but this is hardly true. Many deserts have varied geographical formations ranging from soft, rolling hills to stark, jagged cliffs, and most deserts have a permanent source of water. Although deserts do not receive a high amount of rainfall – to be classified as a desert, an area must get less than twenty five centimeters of rainfall per year – there are many plants that thrive on only small amounts of water, and deserts are often full of such plant life.

Desert plants have a variety of mechanisms for obtaining the water needed for survival. Some plants, such as cactus, are able to store large amounts of water in their leaves or stems; after a rainfall these plants absorb a large supply of water to last until the next rainfall. Other plants, such as the mesquite, have extraordinarily deep root systems that allow them to obtain water from far below the desert’s arid surface.

66. What is the main topic of the passage?

A. Deserts are dry, flat areas with few plant.   
C. Many kinds of vegetation can survive with little water.

B. There is little rainfall in the desert. 
         
D. Deserts are not really flat areas with little plant life.

67. The passage implies that 

A. the typical conception of a desert is incorrect.

B. All deserts are dry, flat areas.

C. Most people are well – informed about deserts.

D. The lack of rainfall in deserts causes the lack of vegetation.

68. According to the passage, what causes an area to be classified as a desert?

A. The type of plants    




C. The amount of precipitation

B. The geographical formations  



D. The source of water

69. The word “source” in bold in the passage means

A . supply 


B storage space

 
C need 


D lack

65. Which of the following is mentioned in the passage about cacti?

A. They have deep root systems.

B. They retain water from one rainfall to the next.

C. They survive in the desert because they do not need water.

D. They get water from deep below the surface of the desert.

70. What is the main topic of the passage?

C. Deserts are dry, flat areas with few plants.   

C. Many kinds of vegetation can survive with little water.

D. There is little rainfall in the desert. 
         

D. Deserts are not really flat areas with little plant life.

71. The passage implies that 

A. the typical conception of a desert is incorrect.

B. All deserts are dry, flat areas.

C. Most people are well – informed about deserts.

D. The lack of rainfall in deserts causes the lack of vegetation.

72. According to the passage, what causes an area to be classified as a desert?

A. The type of plants    




C. The amount of precipitation

B. The geographical formations  



D. The source of water

73. The word “source” in bold in the passage means

A . supply 


B storage space

 
C need 


D lack

70. Which of the following is mentioned in the passage about cacti?

A. They have deep root systems.

B. They retain water from one rainfall to the next.

C. They survive in the desert because they do not need water.

D. They get water from deep below the surface of the desert.

-------------- The end -------------
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	c
	49
	a

	15
	b
	50
	b

	16
	b
	51
	d

	17
	a
	52
	d

	18
	d
	53
	a

	19
	c
	54
	c

	20
	a
	55
	d

	21
	a
	56
	a

	22
	b
	57
	d

	23
	d
	58
	b

	24
	d
	59
	a

	25
	d
	60
	d

	26
	b
	61
	b

	27
	a
	62
	d

	28
	d
	63
	b

	29
	b
	64
	a

	30
	d
	65
	a

	31
	d
	66
	d

	32
	a
	67
	a

	33
	d
	68
	c

	34
	b
	69
	a

	35
	a
	70
	b
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